ENGR 12 TEST 1 100 Points .NAME: EMM A 3Tavmb0[)[//()j

Closed Book. One double sided sheet of notes and a calculator are allowed.

1) Find the effective resistance Req in the network below (it’s easier than it may look at first).
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2) Use current division to find the current ix in the circuit b%
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3) Use voltage division to find Vx in th circuit below.
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4) Find
a)the currentil =
b) the power associa

=LV C?“” v

S (.Q“)'bl (V-3>
= ‘@->( 7,25”1/‘\')6&'-5\/)
\{'\7 =025 m \/\/\

A, = , [ \
R — e \M/w—-—-—"’ ‘ d?’ J

: oL
. L=

Vov ANV TO s g%\%

Va=Ralas e
_ _ |
Q> \/9~ + \/5 O / -C/_ﬁz
33 -0V 1V, *tvg—v | T |
AT oV LaTwA
> [O\/“‘* [OOOOL ‘Q@O0,0' "'O 471/, 5%)00_(1‘
3) 20004+ V3= O > Va=209% = 3kl 2 i)
'5\) /O\/ ‘+/OOD@4/ /{”\/3 - O w
/zrm/7-/




